vier Briiche, Dezimalstellen, Reihenfolge der
Operationen

3+3x5+10><35;2—
4 5 T

3,6 +3,9%x3—

WD W

3—9><1;3+2><42—
5 6 ’

1
§+2,5><3—6><5,1+3=

1
— 20 x3+4-2x
2

W —

Datum: Ergebnis:

1—6x1;3+3X25—
6 2 ’

3
Z-4,9+2x5,9=
2 b 9

3
4,5+3,1x3416x 7 +4=

1 1
——16x=+4+3x3,3=
2 2 ’
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y %* Qﬁ? vier Briiche, Dezimalstellen, Reihenfolge der

Operationen

Name: Datum: Ergebnis:
3 3 85 1 1 1 20 2
-+ =-x5+10x3,5+2=—=2I- ——6x—+34+3x25="~=6¢6=

4 5 ’ 4 4 6 2 ’ 3 3

3 147 7 I 1 1

3,6+3,9%x3——-=— =14— -+ = ——=1

o 501 10 3757273

3 1 17 1 3 42 2
——9x—-+3+2%x42=—=8= ——4,9+2x59=— =8-
56 CT 3T 7 9= 5 =83

1 5 1 3 84 4
—+2,5x3-6x%x5,1+3=(—=)=("12= 45+31%x3+16%x=+4=—=16—=
5 > s (2) ( 2) b 9 4 5 65

91 1 1 1 2 2
= (-=)=(-15- ——16%x=+4+3x3,3=— =8
C5) -1 2 2 05 s

1 1
——20x3+4-2x —
2 3
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